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extern int Magic = 1515;
extern int Break_Period = 24;

extern double Lots =0.1;

extern int Slippage =10;

extern string Comments = "Break Out";
extern int Trailing_Stop = 50; ZTHEES
int Buy_Ticket

int Sell _Ticket

double Pips

int Adjusted_Slippage
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double AdjustPoint(string Currency)
(int Symbol_Digits = MarketInfo(Currency, MODE_DIGITS);
if(Symbol_Digits == 2 || Symbol_Digits == 3)
double Calculated_Point = 0.01;
el}se if(Symbol_Digits == 4 || Symbol_Digits == 5)

{
Calculated_Point = 0.0001;
¥

return(Calculated_Point);
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int AdjustSlippage(string Currency,int Slippage_Pips)

int Symbol_Digits = MarketInfo(Currency,MODE_DIGITS);

if(Symbol_Digits == 2 || Symbol_Digits == 4)

{
int Calculated_Slippage = Slippage_Pips;
else if(Symbol_Digits == 3 || Symbol_Digits == 5)
Calculated_Slippage = Slippage_Pips * 10;
¥

return(Calculated_Slippage);
} |
int init()
{

Pips = AdjustPoint(Symbol());

Adjusted_Slippage = AdjustSlippage(Symbol(),Slippage); le— mmmser it

return(0); _|
int start()

{
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if(OrdersTotal() == 0)

Buy_Ticket
Sell_Ticket =
3
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if(OrderSelect(0,SELECT_BY_POS,MODE_TRADES) == true)
{
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if(OrderType() == OP_BUY)

if(Close[0] < Low[iLowest(Symbol(),0,MODE_LOW,Break_Period, 1)]
&& OrderCloseTime() == 0)

{
bool Closed = OrderClose(OrderTicket(),OrderLots(),OrderClosePrice(),
Adjusted_Slippage,Magenta);

if(Closed == true)
Buy_Ticket = 0;

¥
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else if(OrderType() == OP_SELL)
{

if(Close[0] > High[iHighest(Symbol(),0,MODE_HIGH,Break_Period, 1)]
8& OrderCloseTime() == 0)

{
Closed = OrderClose(OrderTicket(),OrderLots(),OrderClosePrice(),
Adjusted_Slippage,Aqua);

if(Closed == true)

{
Sell_Ticket = 0;
¥

}
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if(Close[0] > High[iHighest(NULL,0,MODE_HIGH,Break_Period,1)] & OrdersTotal() == 0)
Buy_Ticket = OrderSend(Symbol(),0P_BUY, Lots,Ask,Adjusted_Slippage,0,0,
mments,Magic,0,Magenta);
1
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if(Close[0] < Low[iLowest(NULL,0,MODE_LOW,Break_Period,1)] & OrdersTotal() == 0)
Sell_Ticket = OrderSend(Symbol(),OP_SELL,Lots,Bid,Adjusted_Slippage,0,0,
‘Comments,Magic,0,Aqua);
¥
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if(Buy_Ticket > 0 || Sell_Ticket > 0)
for(int i = OrdersTotal() - 1; i >= 0; i--)
{
if(OrderSelect(i, SELECT_BY_POS,MODE_TRADES) == true)
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if(OrderType() == OP_BUY)
{
double Max_Stop_Loss = Bid - Trailing_Stop * Pips;

Max_Stop_Loss = NormalizeDouble(Max_Stop_Loss,
MarketInfo(Symbol(),MODE_DIGITS));

double Current_Stop = NormalizeDouble(OrderStopLoss(),
MarketInfo(Symbol(),MODE_DIGITS));
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if(OrderMagicNumber() == Magic && OrderSymbol() == Symbol()
&& Current_Stop < Max_Stop_Loss)
{
bool Modified = OrderModify(OrderTicket(),OrderOpenPrice(),Max_Stop_Loss,0,0);
¥
}
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else if(OrderType() == OP_SELL)
Max_Stop_Loss = Ask + Trailing_Stop * Pips;
Max_Stop_Loss = NormalizeDouble(Max_Stop_Loss,
MarketInfo(Symbol(),MODE_DIGITS));

Current_Stop = NormalizeDouble(OrderStopLoss(),
MarketInfo(Symbol(), MODE_DIGITS));

/RO EEOEE
if(Of i

() == Magic && O ) == Symbol()
&& (Current_Stop > Max_Stop_Loss || Current_Stop == 0))

{
Modified = OrderModify(OrderTicket(),OrderOpenPrice(),Max_Stop_Loss,0,0);

¥
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¥

return(0);
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